
Ques1: The activism of state citizens, who have demanded safer road conditions as well as 
stiffer penalties for intoxicated drivers, have led to a significant decrease in the number of traffic 
accidents. 
A. have lead to a significant decrease in the number 
B. have lead to significant decreases in the number 
C. has lead to a significant decrease in the number 
D. has been significant in the decrease in the number 
E. has significantly decreased the number 
 
Ans1: C 
 
Ques2: States now have an incentive to lower the blood alcohol level that constitutes drunk 
driving by a federal law that withholds highway funds from those states that don't enforce the 
applicable standard. 
A. that constitutes drunk driving by a federal law that withholds 
B. that constitutes drunk driving, because a federal law withholds 
C. that constitutes drunk driving, because a federal law withheld 
D. which constitutes drunk driving by a federal law that withholds 
E. which constitutes drunk driving, because a federal law withholds 
 
Ans2: B 
 
Ques3: With a boiling temperature of -195.8 degrees Celsius, nitrogen composes approximately 
78 percent of the volume of the atmosphere. 
A. nitrogen composes approximately 78 percent of the volume of the atmosphere 
B. nitrogen is composing the volume of 78 percent of the atmosphere 
C. the atmosphere is approximately 78 percent nitrogen, as measured by volume 
D. nitrogen is composed of 78 percent of the atmosphere's volume 
E. the atmosphere is composed, in terms of volume, of 78 percent nitrogen 
 
Ans3: A 
 
Ques4: Because women buy approximately 80 percent of ties sold in the United States, they are 
often displayed near perfume or women's clothing departments. 
A. they are often displayed 
B. ties are often being displayed 
C. the displaying of ties is often 
D. ties are often displayed 
E. they often can be found 
 
Ans4: D 
 

 



Ques5: Unlike other primates, which are born with fully formed craniums, a newborn human 
baby's cranium consists of eight bones that take years to fuse together fully, allowing the brain 
to grow much larger during those early years. 
A. fully formed craniums, a newborn human baby's cranium 
B. fully formed craniums, newborn human babies have craniums that 
C. a fully formed cranium, a human baby's cranium 
D. fully formed craniums, a human is born with a cranium that 
E. a fully formed cranium, the cranium of a newborn human baby 
 
Ans5: D 
 
Ques6: The capacity of embryonic stem cells to develop into most types of human tissue, which 
makes them potentially valuable for medical applications, but the genetic program that underlies 
this quality is not yet known. 

A. tissue, which makes them 
B. tissue makes them 
C. tissues, which make them 
D. tissue, making them 
E. tissue make it 

Ans6: B 

Ques7: By the mid-1700s, when it began a concerted effort to prevent famine and plague, the 
French government had fully realized that the success of its state-building projects depended on 
the welfare of its people. 

A. By the mid-1700s, when it began a concerted effort to prevent famine and plague, 
the French government had fully realized 

B. Until the mid-1700s, when it had begun a concerted effort to prevent famine and 
plague, the French government had fully realized 

C. By the mid-1700s the French government began a concerted effort to prevent 
famine and plague when it fully realized 

D. The French government began a concerted effort to prevent famine and plague 
by the mid-1700s, fully realizing 

E. When the French government began a concerted effort to prevent famine and 
plague, it fully realized by the mid-1700s 

Ans7: A 
 
Ques8: Replete with bloody revenge, disasters (both deserved and undeserved) and agonizing 
moral dilemmas, the plots of tragedies also involve dramatic irony, where the audience 
recognizes the facts before they are recognized by the play's characters themselves. 

A. they are recognized by the play's characters themselves 
B. the play's characters recognize the facts 

 



C. these facts are recognized by the play's characters 
D. being recognized by the play's characters 
E. the play's characters themselves do 

Ans8: E 
 
Ques9: Female sparrows and immatures are quite nondescript compared to the adult male 
sparrow's distinctive and conspicuous markings: a black bib, a grey cap, and white lines trailing 
down from the mouth. 

A. the adult male sparrow's 
B. those of adult males, their 
C. the adult male, which has 
D. adult male sparrows' 
E. adult males, whose 

Ans9: C 
 
Ques10: Perhaps the boldest and most grandiose composition in the history of Indian painting, 
the blossoming of that nation's classical period cannot be better represented than by the ​Sinhala 
Avadana​ frieze. 

A. Perhaps the boldest and most grandiose composition in the history of Indian 
painting, the blossoming of that nation's classical period cannot be better 
represented than by the ​Sinhala Avadana​ frieze. 

B. The ​Simhala Avadana​ frieze is perhaps the boldest and most grandiose 
composition in the history of Indian painting, the blossoming of that nation's 
classical period cannot be better represented than by it. 

C. Representing the blossoming of India's classical period better than any other 
composition, the ​Sinhala Avadana​ frieze, which in the history of Indian painting is 
perhaps the boldest and most grandiose composition. 

D. The blossoming of India's classical period cannot be better represented than by 
the ​Simhala Avadana​ frieze, perhaps the boldest and most grandiose composition 
in the history of Indian painting. 

E. The blossoming of India's classical period cannot better represent what is 
perhaps the boldest and most grandiose composition in the history of Indian 
painting: the ​Sinhala Avadana​ frieze. 

Ans10: D 

 

 

 


